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PART -1
GENERAL ENGLISH

(1-5) : In the following passage, there are blanks, each of which has been numbered.
Against each number, four words are suggested, one of which fits the blank appropriately.
Find out the appropriate word.

The appointed day has come, and India stands _(1) _again, afterlong _{2) and struggle,
awake, vital, free and independent. The past _(3) _ on to us still in some _(4)_and we
have to do much before we _(5)  our pledges.

1.

(1) here (2) forth
(3) free (4) forward
(1) period (2) slumber
(3) compulsion (4) exile
(1) sticks (2) faces
(3) extends (4) clings
(1} measure (2) quantity
{3) limits (4) ways
(1) take (2) redeem
(3) rectify (4) comply
We Qo yesterday.

Identify the appropriate word 1o fill in the blank.

(1) might (2) may
(3) hadio (4) should

A : 1 haven't got any money.

B : Neither have .

C : Nor have |.

D : I haven't either.

Whaose response to ‘A’ is grammatically correct ?

(1) B's (2) C's

(3) D's (4) Allthe three are correct

MPC/EET [2]
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8. Thisisn'tvery interesting, ?
Complete the sentence choosing the correct question tag.
(1) isn't it @) isn'tthis  (3) isit (4) is this
9. They have built a new hospital near the airport. !

The passive form of the above sentence is
(1) Anew hospital has been built near the airport.
(2) A new hospital was built by them near the airport.
(3) A new hospital is buiit by them near the airpont.
(4) A new hospital is being built by them near the airport.

10. Doyouknow ?
Identify the later part of the sentence.
(1) whattime does the film begin
(2) whattime is the film begin
(3) what time the film begins
(4) what is the time the film begins

11. The man/ which lives / in this house / is from Kolkata.

(a) (b) (c) (d)

The sentence is divided into four parts — a, b, ¢ and d. Identify the part of the
sentence that has an error.
(1 @ 2} (b) (3) (¢) (4} (d)

12. lusually get up early but this moming | at9.30.
Choose the appropriate phrase to fill in the blank.
(1) hadgotup (2) was gettingup
(3) usedtogetup (4) gotup

13. This road is very dangerous. There many accidents.
Choose the correct option to fill in the blank.
(1) hasbeen (2) were {(3) arebeing (4) hadbeen
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14.

15.

16.

17.

18.

19.

20.

Code

Raghu : ?

Sreenu : i takes four hours by train from Hyderabad 10 Vijayawada.
tdentify Raghu’s question from the following.

(1} Whatis the distance between Hyderabad and Vijayawada

(2) How long does it take by train from Hyderabad to Vijayawada
(3) Whatis the time taken from Hyderabad to Vijayawada

(4) How will you go to Vijayawada from Hyderabad

Oxford is famous for University.
Choose the appropriate word to fill in the blank.
(1) it’s (2) their (3) its (4) our

Which flowers do you want, ?

Choose the correct option to complete the question.

(1) These orthose (2) - These ones or those ones
(3) This ones or that ones (4) This ones or the other ones

a) | gave to Padma the keys.

b) [ gave Padma the keys.

Read the sentences (a) and (b}. Identify the correct sentence(s).

(1} Only {a) is correct (2) Only (b) is correct

(3) Both (a) and (b) are correct (4) Both (a) and (b} are incorrect

Write your name the top of the page.
Identify the correct preposition to fill in the blank.

(1) on (2) in (3) at 3) to

If Laxmi did not have a job, what would she do ?
The above sentence tells us that

(1} Laxmihas a job. (2) Laxmi has no job.

(3) Laxmiusedto have a job. (4) Laxmi wantedto have a job.
Choose the word with the correct spelling.

(1) grammar (2) genuin (3) glous (4) greenary
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21.

23.

24.

25.

26.

27.

We were touched by the honesty of the beggar.
The underlined word means
(1) impressed {2} moved (3) surprised (4) horrified

Hardly had | finished writing the letter before Karthik arrived.
The underlined word can be correclly substituted by

(1) then (2) while (3) as (4) when
We are so poor

Identify the later part of the sentence.

(1) toeducate her son. (2) that you can get this job.
{(3) that we cannot buy books. (4) that!cannot walk anymore.

The word ‘landlady’ is a

(1) vegetable (2) person (3) place (4) thing

Try toprevent all diseases.

Choose the correct form of the underlined word to fill in the blank.

(1} prevention (2) preventing (3) prevented (4) preventive

Identify the pair of words in which the underlined parts are pronounced in the same
way.

(1) head-bread (2) |
(3) great—bread (4) lea

reat

.._

ad

ICD

Your friend offered you a cigarette. You don't have the habit of smoking. What
would you say to him ?

(1) I'm happy! (2) It's so nice !
(3) No, thanks! (4) 1don't mind !

Children are always curious.
Identify the part of speech of the underlined word.
(1) noun (2) verb (3) adjective (4) adverb
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29, Anusha is the most beautiful of all the girls in our college.

The sentence can also be written without changing the meaning as

(1)
(2)
3)
(4)

Very few girls in our college are as beautiful as Anusha.

No other girl in our college is as beautiful as Anusha.

Some other girls in our college are as beautiful as Anusha.
Anusha is more beautiful than some other girls in our college.

30. Identify the correctly-punctuated sentence.

(1)
(2)
(3)

Mary who is an intélligent student has passed the examination
Mary who is, an intelligent student has passed the examination
Mary | who is an intelligent student, has passed the examination

(4) Mary ! who is an intelligent student has passed the examination
31. The sentences labelled a, b, ¢, d, e are jumbled. Identify the correct order.
a. He wants to see Siddu.
b. Snoopy goes to school.
c. ltis the headmaster's room.
d. Snoopy goes to a room.
¢. Siddu is not there. _
(1) a,c,d, e, b (2) b,a,d,c, e
{3) b,a,ced (4) d,e,c,a, b
32. Many of the problems were caused by a in communication.
Identify the correct option to fill in the blank.
(1) breakthrough (2) breakup
(3) break out (4) break down
33. ‘God exists and loves everybody’ is
(1) atact (2} abelief (3) anissue (4) aview
MPC/EET 161 |
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34. A:These trousers 've bought are t0o long.

B : Well, why not get ?

Choose the correct option to complete B's reply.

(1) them shortened (2) them a short cut
(3) them widened | (4) them narrowed

35. “ltwas | who broke the vase,” he :
Choose the verb which best fits the meaning of the sentence to complete it.

(1) shrieked ~ {2) begged

(3) confessed (4) complained
36. ldentify the word which can be used as a noun or an adjective or a verb,

(1) ache (2) faint (3) swell {4) shiver
37. Choose the right suffix to make the word ‘content’ a noun.

(1) =1y (2) —ship (3) —hood (4) —ment
38. Ourteam won three goals/points.

Identify the correct preposition to fill in the gap.

(1) by (2) with (3) on (4) for

39. Identify the compound sentence.
(1) 1saw a man when | was going to college.
(2) !told Leela that Rani was a liar.
(3) He is absent because he is sick.
(4) You work hard or you will fail.

40. ldentify the antonym of 'Harmony’.

(1) Success (2) Conflict (3) Joy (4) Solace
41. One who is weil-versed in the science of female ailments is

(1) AGynaecologist (2) -A Dentist

(3) ADruggist (4) AnOculist
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42. |dentify the set of words arranged in the alphabetical order
(1) relax — religion — release - relish
(2) religion = relax — relish — release
(3) relax —release — religion — relish
{4) relish —relax — religion — release

43. ‘Shallido it foryou 7
The ‘language function’ of the sentence is
(1} seeking permission (2) making an offer
(3} asking a question (4) making a suggestion

44. Hels in great troubles. He is cheerful.
The combined form of the above two sentences begins with

(1) Forall
(2) Sincehe
(3) Besides being
(4) Assoonashe

45. Everywhere elegant old buildings are being and mediocre modern
structures are being put up.

Choose the appropriate phrase to fill in the blank.
(1) pulled off {(2) pulledup

(3) pulled through (4) pulled down

46-50 : Read the passage carefully and answer the questions that follow.

“The history of science is the real history of mankind”. In this striking epigram a nineteenth
century writer links science with its background. Like maost epigrams, its power lies in
emphasising by contrast an aspect of truth which may be easily overlooked. In this case
it is easy to overlook the relations between science and mankind and to treat the former
as some abstract third party, which can sometimes be praised for its beneficial influences
but frequently and conveniently blamed for the horrors of war. Science and mankind

MPC/EET [8]
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cannot be divorced from time to time at men’s convenience. Yet we have seen that,
inspite of countless opportunities of improvement, the opening years of the present period
of civilisation have been dominated by international conflict.

Is this the inevitable result of the progress of science or does the fault lie elsewhere ?
46. The sentence, “The history of science is the real history of mankind” means
(1) science has given man countless opportunities for improvement.
{2) science and mankind cannot always be divorced.
(3} mankind has progressed as science has developed.
{(4) the good and bad uses of science reflect the character of man.

47. The epigram given in the passage highlights
(1) the evolution of science
{2) the real history of man
(3) the contrast between science and civilisation
{4) anelusive truth about human nature

48. The aspect of truth likely to be overlooked is that
(1) science has made war horrible
(2) science is beneficial to man
{3} science is what man has made it
(4) science has created international conflicts

49. The writer implies that international conflict is the result of
(1) faulty relations between nations (2) human weaknesses
(3} invention of deadly weapons (4) progress of science

50. The last sentence suggests that
(1) civilisation could prosper well without scientific inventions.
(2) the trouble lies with human beings themselves.
(3} people have missed opportunities to improve their lot.
(4) the horrors of modern life are the inevitable result of the progress of science.
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PART -1l
MATHEMATICS

51. It A and B are two disjoint seis, then the value of AnB Is

A, B o> 3o doug $avaedd ANB Jess

(1 ¢ (2) A

(3) B (4) 1
52. ~(p= q)isequalto

~ (p = q) © 3TTRIL

(1) ~p=~q (2) ~q=~p

(3) pAr~q (4) pv~g
53. If#(x) = x + 1, then the value of 3.f(2)-2.1(3) is

f(x) = x + 1 wond 3. 1(2) =2 f(3) Do, Deos

(1} 0 (2) 1

(3) 2 (4) 3

54. The solution of X2 — 5x + 4 < 0 lies between

(1} tand4 (2) 2and3

(3) —1and—4 (4) —2and-3
X2 = 56X + 4 < 0 k), 5 el Bogiy dotod

(1) 13000004 (2) 2380303
(3) - 1 sobato — 4 (4) — 23000 —3

MPC/EET (10]
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55. If x+%= 4, then the value of x—-} is

x+—1—=4e90:o$5 x-l Do
X X

(1) 3v2 2) —‘?
(3) 72-5 (4) 2J3

56. If the roots of an equation px? + gx + r = 0 are equal, then

PX2+ X + =0 & 5080 D), SoTeres S3FSe &0
(1) @?=pr (2) of=4dpr
(3) p?=4qr (4) p=ar

57. IfA.M. and G.M. of two numbers are 16 and 8, then the value of H.M. is
Bl o SoSREHRN K000 089 Sugipintues SE 165080k B 60050 Tred Sttt

Relabing
(1) 12 (2) 8
(3) 4 (4) 6

58. The graph of x = — my? lies in the quadrants

(1) Q,andQ, (2) Q,andQ,
(3) Q,andQ, (4) Q,andQ,

X = —~ my? 330 Sdio &ots STren

(1) Q, 8o Q, (2) Q,%0am Q,
(3) Q, a0 Q, (4) Q, 28am Q,
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B9, If x— 3 is a factor of 2x2 + 9x + K, then the value of 'k’ is
2% + X + k2 X — 3 ¥ T8erositn 0ot 'K Jeus
(1) 45 (2) —-45
(3) -9 (4) 9

60. If (x +vy, 1) = (3, y — x), then the value of X’ is

(x+y, 1)=(3, ¥~ X) 2008 X Je0id
(1) 0 (2) 1

(3) 2 (4) 3

61. If [x%]u =x°, then the value of 'p’ is

[X% T = x? 0008 ‘P’ Dewd

1
(1) 3 @ 3
(3) 2 | (4) u
2
_12 . ,
62. Iif 0059—1—5, then sin(90+ 6) Is equal to
cos o =%,@mé sin(80 + 6) Jeos
-12 12
() 45 @ 13
5 -5
(3) 13 (4) 3

Q. Booklet
Code
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The shape of the decision box in a flow chart is

{1) Rectangle (2) Ellipse

{3) Rhombus (4) Paralielogram
(535 Do’ DZAD el essmesion

(1) &g usosEsn (2) 6558

(3) Toad (4) SEToBE BBy

Two circles with radii ‘R’ and ‘v touch internally. If the distance between their
centres is ‘d’, then

‘R’ sodatto T sydreren o Bochd SyBten woston Hotusotuamam. %3 Some D¢ Srdo
'd’ eond
(1) d<R~r (@) d=R+r

(3) d>R-r. | (4) d=R-r

Iif x=tan8+secH;y=tand-secH, then

X =tan®+sec 8; y = tan f — sec Haand

(1) xy=1 (2) x2+y?=1
(3) xy=—1 (4) x2—y?=1
If the median of the data x,§,§,§and§ is 10, then the value of X' is
%=, X X e 2 emroisn . $oeeiso 10 o X Deos
'2'5'4 37> U
(1) 10 (2) 20
(3) 30 (4) 40
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The slope of the straight fine 2+ ¥ =1 is

2 3

+x = 150002 sowde Gug, o

N>

)

-
—

(@)

win W<

I Njw
ol

—2
@) 7 (4)
It sin8 = cos20, then cot30 value is

SinG = ¢0S 26 escad cot 30 Jeos

(1 V3 (2)
(3) 0 (4} o

a1

For a given data, mean is 39 and median is 38, then its mode is equal to
& S50 G, B 39 S000in Bogynn 38 eond o erowiio ek

(1) 36 (2) 37
(3) 38 | (4) 40

If 5% ~5>* - 0, then the value of ‘X’ is

§* —57* = 0 wowd X e

(1) O (2) -1
3 1 (4) 2

. It A=60°, then the value of 2sin4;-cosA is

A = B0° wond 28inA - COSA, s

m 7 @ L2
@ 2 w %

MPC/EET [14]
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72. The point of concurrence of altitudes of a triangle is

{1) circum centre
(3) centroid

2.5 950208 &dBon 9Bg Dot
(1) 28 doigdow
(3) Mg Bogsm

73. A= AT, then Ais called

(1) Scalar matrix

(3) Symmetric matrix

A=ATeowd A
(1) ebrs>rds
(3) FussrdE

74. The value of ‘1’ radian {(approximately) is
1" BAahsd Ay, Dend (Hoarerr)

(1) 56°16
(3) 58°1¢

(2)
(4)
(2)
4)

(2)
(4)

(2)
(4)

(2)
(4)

ortho centre

incentre
208 3OS0

2505 SorRn

Skew symmetric matrix

Identity matrix

DTS JTDE
B8y SPHE

57°1¢’
59°16

75. If two circles touch internally, then the number of their common tangents is
SOBSOTT HBOTER Tot HyTneH Acbie dlad Htsdae Sogy

(1) 2
(3) 0

76. If the matrix A = | 2
4 k

3

(2)
(4)

A= |:2 3:| 2.8 e TICiEs SPEE eand 'K’ dews

4 K
(1) 2
MPC/EET

(2) 4

[15]

(3)

3
1

J is singular, then the value of 'k’ is

6 (4) 8

(P.T.0)
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78.

79.

80.

81,

Code
The point that satisfies the equation 3x +y < 4 is
3X + Y < 4 S0 SyBcd Aot
(1) =1,-2) 2} -1,9)
(3) (1,2) (4) (0, 6)
iff: R— R, f(x) =2x -3, then f(x + 1) is equal to
f:R—>R, f(X) = 2x — Jeocwd f(x + 1} 552036
(1) x—1 (2) x-3
(3) 2x-3 (4) 2x~1
The limiting position of secant of a circle is
(1) Radius (2) Diameter
(3) Chord (4) Tangent
38 DesSde By, ©HH
(1) =g (2) wrgoso
(3) e (4) %ce
If £n =x, then =n° is equal to
TN = X e0008 TN’ 5 08r5R058
(1) x (2) x2
(3) Vx (4) 2x
If "C, ="C,, then the value of ‘n’ is
nC!3 = "Cg sowa N’ Dews
(1) 3 (2) 9 (3) 12 4y 15

MPC/EET [16]
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82. The perpendicularsiope ofaline 5x -2y +4=0is
5x — 2y + 4 = 0 % oo &ots 02 R, T

2

1) @ =

5
3) 2 (4 32

83. The area of a triangle formed by the line joining the points (4, 0} and (0, 5) with the
co-ordinate axes is (in Q. units)
DS e 58010 (4, 0), (0, 5) Docoiperss 8B HET0aL S50dss esdotieds @abes FTremas
(3. T E")

(1) 6 (2) 8 (3) 10 (4) 20
84. The maximum value of an objective function f = x + 4y is at the point

of 5 BR0Xan f = X + 4y Gho), 1635 Dens £ Hocuw) 3¢ éotwod

(1} (3.0) 2y (4,0

(3) (0,5) (4) (0,8)

85. Harmonic mean of 6 and 3 is

B 20801 3 & Gl T Sadaunon

(1) 4 (2)

(3) 32 (4)

86. AABC~ APQR.!If AB=3.6, PQ=2.4 and PR = 5.4, then the value of AC is
AABC ~ APQR. AB = 3.6, PQ = 2.4 5805 PR = 5.4 o AL Jeos
(1) 3.6 (2} 8.1 (3) 5.4 (4) 7.8

MPC/EET [17] (P.T.0))
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87.

88.

89.

0.

Code:
If 5= 6, 8 = 7 and 7° = 5, then the value of xyz is
5 =8, 6" = 7 50801 7° = 5 ec0od XYZ Do
(1) 210 (2y 18 (3) 1 4 0
The 10" term of the series §. §1 §, ... is equal to
2'4’' 8

%%g e BGE° 10 3 Bessw

3 3
(1) 25 | (2) 20

3 3
®) 312 4) 7024

If the function f:R — R defined by f(x) = 3x — 4, then f'(x) is

1R - R b ooy f(X) = 3x— 4™ 2650% ()

N

1y 3% 2) 3x+4

2

@ *F° (4) 3x—4

Iftan (A+ B)= /3 andtan A=1,then £ZB is

tan (A + B) = /3 oo tan A =1 ecwdd ZB Deos

i T
(M 3 (2) 7
@) & @ 15

MPC/EET [18)
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91. The mean of 10 observations is 16.3. If an observation 23 is wrongly recorded as

32, then the correct mean is

10 e0¥d00 Hren 16.3. ot 6.8 e deod 23 £ axsovore 32 &) e 5ED, 59 dKen
(1) 15.04 (2) 15.4

(3) 17.2 (4) 17.02

92. The length of the tangent drawn from the point ‘P’ which is at a distance of 5 cm

from a circle having diameter 6 cm (in cm)

B Wo. . TEEH0 Mo 5HBHNSK oD Toitos od B wo. . Ersoe’ Mo P Do ol o

200 A, oD SED (Ro. Do)
(1) 5 . (2) 4

(3) 3 (4) 2

93. The quadratic equation, whose roots are 2 + +/3 and 2- /3 will be

2++/3 180t 2 3 Sareras Ko 5¢8 5okt
(1) xX*+4x+1=0
@) x*+4x-1=0
(3) xX*-4x+1=0
(4) x*-4x-1=0

MPC/EET [19] (P.T.0.)
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94, ifthere are ‘n’ arithmetic means between ‘a’ and ‘b’, then the common difference ‘¢

is equal to

‘AP’ o 50655 N’ ol Sugiesadoonn e, 'd’ SoroBo wons 'd’ Do

o

+1

1) 2

>3

=)
|
03]

|

(@)

=
!
-

ay
+
o

|

3)

=
|
—_

o
)
fa i)

@ 2

+
-l

- 95. If Ac B, then Au(B - A) is equal to

AcBeaond AUB-A) 9588008

e (2 »

(3) B (4) A

96. The n" term of the progression 2.3+ 3.4+ 45+ ...is

23+3.4+45+ .. =35 365N 5 Hessw
(1) n(n+1)

(2) (n+1)(n+2)

(3) n(n-1)

4 (n=1)(n+1)

MPC/EET [20]
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97. If a® =0.04, then the value of a° is
a® = 0.04 wcd a’ Jod
(1) 0.8 : (2) 0.08 (3) 0.008 (4) 0.0008
98. A histogram consists of
(1} Rectangies (2) Triangles
(3) Circles (4) Sectors
233 Bae Do (Histograms) sdrarwedsd
(1) &g Sespsons (2) Gegtmsoom
(3) Hymeo (4) Dgeoen
1 2 3 .
99. ItA= 4 5 6 » then the order of A’ is
1 2 3 .
A= 4 5 6 woxd AT, 6818
(1) 3x3 (2) 2x3 (3) 2x2 (4) 3x2
100. The centroid of the triangle whose vertices are (0, 0), (6, 0) and (0, 8) is
(0, 0), (6, 0) 5o8ax0 (0, 8) Boewm re Gebasios @, MHCHSEoEEL
8 4
m (25) @ (33)
43
3 |3 (4) (6.6)
MPC/EET [21)
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101.

102.

103.

104.

105.

Code

PART -
PHYSICAL SCIENCES

The weight of an object is zero at
{1) Height equal to half of the radius of the earth
{2) The centre of the earth

" {3) The equator

{4) Atthe poles
£ HRGRH G0, 4TOED A0 el $h¥o
(1) 2 TErgsnd’ sl Sersson dms”  (2) atEogso 3¢

(3) 2oy Ce 5 (4) oo 5¢

Radiations used in Physiotherapy are

(1) X =rays (2) Infrared rays

(3) UVrays (4) v —rays (gamma rays)
FOOE oG D885 E° SSETICND

(1) X —3dero (2) Boetes dewen

(3) & 8%rs dseren (4) ™5 om0

In a resonating air column experiment with a closed end tube first resonance occurs
when the length of the air column is 10 cm. Second resonance occurs at

SRR OB T Joare PArrod” Surh diy FReed” md Jouso iy 10 CM sy 236
WROTES IGHEB, DO T8 e80T E0 HHESDHEO ™ Jogo 8y

(1) 20cm (2) 30cm (3) 40cm (4) 50cm
The unit of Solid Angle is

(1) Candela (2) Steradian (3) Lumen (4) Radian
3% Seaiiar cloo%; (e

(1) e (2) 3PodansS (3) er@os (4) ShanS
The isotope used to assess the age of fossils is

(1) Uranium (2) Phosphorus (3) Cobalt (4) Carbon
Berero SALROyS ATOOMWK TE ol

(1) otoBdanSs 9SS (2) 2vnoR oSS

(3) Serdadns™ (4) SGS oAfeST

MPC/EET [22]
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. 106. The charge carriers in a semiconductor are

(1) Electrons (2) Holes

(3) Electrons and Holes (4) lons

OETIEE eddE TEE SeTen

(1) dogoes (2) Fdeo

(3) logRy 000 Fbew (4) eoxrsoes
107. Example for a diamagnetic substance is

(1) Nickel (2) Iron (3) Cobalt {4) Gold

SOIPIrhe3t DN SO

(1) =& (2) =8 (3) §erd (4) 2omrEsy
108. The free electrons density is more in

(1} Conductors (2) Insulators

(3) Semiconductors (4) Electrolytes

?%33 DOFR0 TS BZoT Lo :

(1) Torsen (2) wossmen (3) egavrsen (4) bl
109. The wavelength of a ruby laser is

t8) 8255 ooty BEONPE 350

(1) 6328A° (2) 6943A° (3) B493A° (4) 6394 A°
110. An electrical device converts mechanical energy into electrical energy is

(1) Electnic motor (2) Transformer

(3) Dynamo (4) Diode

CIPOIDS 4D DS Sy USH00

(1) deodarers (2) erSprb

(3) asawr 4) saré
111. Laundry drier is a application of

(1)} Centripetal force (2) Electrostatic force

(3) Frictional force (4) Centrifugal force

ool GO0 B Do), eoBgsn ?

(1) efEos weo (2) %06 dgses oo

(3) ot axwo (4) esdogaeo

MPC/EET [23] (P.T.0.)
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112. To measure electric current we use

(1) Voltmeter (2) Ammeter (3) Manometer (4) Altimeter
Desogd @arrHnG 583 16880 '

(1) SEveb (2) edoesh (3) srSh0eb (4) ebhoeb

113. Resistance of a metallic conductor depends on
A. ltslength B. Temperature C. lts area of cross section

(1) AandBonly (2) BandConly (3) A BandC (4y Aonly
TRES00 Clond), 5 G0 esTEad ok S0TeD

A TEIEY B. &afew C. 5S¢t o0
(1) A 580w B Srsio (2) B 3080t C Sm@do
(3) A, B3ooxsC (4} Asrgdo

114. Isobars are the elements with

(1) Same mass number (2) Same atomic number

(3) Same neutron number (4) Same number of electrons
sonFerEn 0%

(1) 3308 Doz PASD (2) 285655 Sogy SHASD

(3) e srmgerts Bomg SORDD (4) 28 doFg Sopg WOAID

115. To make a P-type semiconductor an intrinsic semiconductor is doped with

(1) Arsenic (As) (2) Phosphorus (P) (3) Gallium{Ga) (4) Antimony (Sb)
P - 650 exggais-¥o BOIPI00 BgeTide: exararaionsts Somselss Srdkgon

(1) wowE(As)  (2) dwu0o(P) (3) moevo(Ga) (4) eoeldnd(Sb)

116. The programme which translates the High level language into machine language is

(1) Compiler (2) BASIC (3) Assembler (4) COBOL
&y RO 5T Abo PRgS Sl Sorstad S

(1) sopeb (2) BASIC (325)

(3) enont (Assembler) (4) 5% (COBOL)

MPC/EET [24]



117. The weight of 500 gr stone is
500 grghosomd o oroo 2t

(1) 4.9N (2) 49N (3)

Q. Booklet
Code

490N (4) 0.49N

118. The nuclear reaction that takes place in a nuclear reactor is

(1) Controlled chain reaction (2)
3y Nuclear fusion reaction (4
MrsSerd Borgd Sos esBA oSy 15

(1) OB goae W (2}
(3) Sogse vodis vy (4)

119. A P-njunction diode can be used as

(1) Amplifier (2)
(3) An electronic switch )
P-N$0f Sard cwd), addrro

(1} wohpond (2)
(3) JoZ:RE RS (4)

Uncontrolled chain reaction
Thermo nuclear reaction

@:JOJ:)O@E'@ ;é)O&)QJ {365
eigBosy 56;

Oscillator
Integrated circuits (IC)

&eogo (Oscillator)
80e300& 26y, #5(1C)

120. Two resistors 6 2 and 12 Q when connected in parallel series the equivalent

resistance is

Do O e B Q Sobosw 12 OR0 SIS ag@es‘ $OTH0 DT PO BT Dews

(1) 12Q (2) 18¢Q (3)

121, M.K.S. unit of magnetic pole strength is
(1) Newton (2) Weber (3)

. SCh,08 GyoReg ang MK.S. gareo
(1) =omgod (2) »eb (3)

6 Q (4) 4 Q
Ampere (4) Volt
300D (4) ¢

122. Abody is projected vertically upwards with a velocity 10 m/s. If we take g = 10 m/s?

the maximum height reached by the body is

(1) 15m (2) 10m (3) 20m (4) 5m
28 53990 10 M/S Do’ DL D™ pd 2088 06 35S MBZIB (g = 10 M/s2rr SXEDST)
(1) 15% (2) 10% (3) 205 (4) 5%

MPC/EET [25]

(P.T.0.) -



TG R

123. In a stationary wave the point at which the displacement is maximum is called

124.

125.

126.

127.

128.

129.

MPC/EET

(1) Node (2) Antinode
R0 BoNod’ ey Jdiesoso Ko Hotow)
(1) enponss (2) ot
The symbol of a cell (battery} is
amead (cell ) o, sl

(1) i (&) —P—

Electro magnetic radiations are
(1) o —rays {2) p —rays

DS, 08 D8eTen
(1) o — 5ewen (2) B —Scere

(3)
(3)

(3)

(3)
(3)

The electronic configuration of chromium is
Eoaho TS Ho

(1) [Ar]4s'3d® (2) 3d54s’ (3)

Mendeleef's periodic table is based on the
(1) Atomic weight (2) Atomic number (3)
200D L2543 DERUO EEIW
(1) 28srew grssw

(3) Ssre Ty

The chemical formula of Magnesite is
Brhes B, Sahn FodsLe

(1) MgCoO,

(3) MgCl,

(2)
(4)

(2)
(4)

Pauling’s scale is used to express
(1) Electro Positive Character

(3) Atomic Radius

FOh W ESDPRoD BOCHESE
(1) &8 desograg Sprso

(3) e g

(2)
(4)

(2)
(4)

[26]
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Crest {4) Trough
Foreioo 4) &3
_\\_— @ S
Y —rays (4) Sunrays
Y — 80eTen (4) =3 8ered
[Ar] 3d* 452  (4) 3d*4s?

Atomic radius (4) Atomic volume

e N N iar s :60&:5
S5TNFER HoRS0Rrm0

Mg SO, 7H,0
CaCO, MgCOQ,

lonization Potential

Electro Negativity

e0ONSSes ¥
20067 Ddasc%&gé
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130.

131,

132,

133.
134.

135.

Code

The shape of NH, (Ammonia) molecule is

(1) Linear (2} V.shape

(3) Pyramidal (4) Trigonal by pyramidal

R e (NH,) esxy®

(1) Bdarse (2) V.esy® (3) Lowed (4) G300

Co-ordinate covalent bond is presentin
K050 BRoArEdah woto FORY @ea)

(1) HCI (2) HO (3) H,O* (4) H,
End 10 end overlap of orbitals leads to the formation of

(1) Sigma (o) bond (2) Pie(r)bond

(3) - lenic bond (4) Co-ordinate covalent bond
esfyeTl) 2oy SBTBO IO AHEOHE

(1) 2my(0) wodo (2) 2 () 20850

(3) wardx oo (4) 50550 RSodireERa 200

The body fluid whose pH is greater than 7 is

(1) Saliva (2) Gastric juice {3} Urine (4) Blood
PH D003 7 8 20,07 flo 3053 855 5550
(1) erereseo (2) ryBane (3) Sorwsw (4) o

The oldest coal is called

(1) Lignite (2) Bituminous (3) Anthracite (4) Dolomite
&8 YTBIWD '

(1) Oy (2) Deagosd (3) eo@es (4) Sonpe
The hydrocarbon used for artificial ripening of fruits is

(1) Ethene (2) Acetylene (3) Ethelene (4) Benzene
SADHOE YO SOOI B S3CIrRSE IPESES

(1) sBS (2) D0e3dS (3) 2685 (4) BoS

MPC/EET [27] (P.T.0)



136. The sweetest sugaris

(1) Glucose (2) Sucrose (3)

B0 HANSHH0 Mo 18,6

(1) e (2) g (3)
137. Example for a mixed fertilizer is

(1) KCl (2) NHCI (3)

EB JERHE SIS

(1) Kl (2) NHCI (3)
138. The aromatic hydrocarbon is

(1) Benzene (2) Acetylene (3)

8T pE TS

(1) Zoss (2) oh®5 (3)
139. 1 Angstrom (A®) =

(1) 10%em (2) 10%cm (3)

1 wofirS (A%) =

(1) 10™20.20. (2) 1078 0. . (3)
140. Magnetic quantum number is proposed by

(1) Lande (2) Neilsbohr (3)

ORI, O TR0 OV VT BOVTIED

(1) ecd " (2) 5B (3)
141. f— orbitals are present in

(1) K-Shell (2) L-Shell (3)

f — estemilyy Mo EEE0

(1) K—-st00 (2) L-zs50 (3)

[28]

MPC/EET

Fructose

Ethane

Bto

108 cm

108 20, 2.

Sommerfield

FBog

M - Shell

M —seyso

Q. Booklet

(4)

(4)

(4)

(4)

(4)

(4)

(4)

(4)

(4)

(4)

Code

A

Maltose

mes:é

Nitrophosk

RES

Pentene

2oe3S

10 ¢cm

1019 20, 2o,

Rutherford

EresEish

N — Shell

N — 50
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142,

143.

144.

145,

146.

Code
—COOR is called
(1) Ethergroup (2) Acid group
(3) Amino group (4) Estergroup
— COOR esoné
(1) b Ssorso (2) ey o
(3) TS wvorEo (4) 236 ssarsro
The colour of Methyl orange indicator in acidic medium is
(1) Yellow (2) Pink (3) Red (4) Orange
e3535 B S08’ opd ol Srag Yol
(1) S0 (2) roerd) (3) 20 (4) escolf
The name of C, H_ is
(1) Hexane (2) Hexyne
(3) Octane {4) Propane
C, H,, g, oo
(1) %S (2) 22 (3) £S5 (4) &od
Chief component of cooking gas is
(1) Ethane (2) Methane
(3) Butane (4) Pentane
BOLITERD QO Ao Sonag BOTOHHHw
(1) &S (2) 285 (3) eSS (4) 20635

The metal salt or metal oxide added to the glass to get blue colour is
DOGOKs Ko e SAXTHE Sorsohis & oben So S e

(1) Cu,0 (2) Cr,0, (3) AuC, (4) CuSO,

MPC/EET [29]

(P.T.0.)
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147.

148,

149,

150.

Alkanes undergo

(1) Addition reactions (2) Substitute reactions

(3) Condensation reactions {(4) Polymerization reactions
esdy om0 200 DS

(1) Sosols SGea (2) ©dg5e Bt

(3) ot vogwo {4) TER0b8e o

Terra — ¢otita articles are

(1) Glazed (2) Porous
(3) Hard {(4) Soft
Qs Sypen (FRrE)

(1) Do s02 (2) »oyessases
(3) R (4) S0ye5289

10 gr of Na,CO, is dissolved in 190 gr of water, the weight percentage (w%) of
solution is

10 = Na,CO, 2 190 ¢ e3¢ 8howm Dt @rsess) o6 Tt (Woh)....
(1 20 @ 1 3 5 (4) 25

The process of obtaining soap from cils or fats by hydrolysis in the presence of a
base is called

(1) Defecation (2) Saponification
(3) Carbonation (4) Sulphitation
50 $050d" R/ ERgs e DT Dobeds Tgor Saqy o Jred A
(1) as8&ss (2) =22%EsS

(3) =GRS (4) SHERS

MPC/EET - [30]



